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Overcoming barriers in mathematics – helping children move from level 2 to level 3


Can I divide a two-digit number by a one-digit number and explain any remainders?

Number line division

Write 42 ÷ 3 on the board.

	Q
How can we approximate this? What do we know that will help us?


Agree with the children that 10 × 3 = 30 and 20 × 3 = 60.

Explain that as 10 × 3 = 30, 30 ÷ 3 = 10 and as 20 × 3 = 60, 60 ÷ 3 = 20, so the answer to 42 ÷ 3 is between 10 and 20.


Revise hopping backwards along a number line to divide by repeatedly subtracting. Model this on the board:



	Q
This is taking a long time. Is there a quicker way to do this?


Let children, in pairs using whiteboards, try to find a quicker way. Take feedback.

Model on the board:



	Q
How many groups of three have we subtracted? (14)


Point out that 14 is between 10 and 20, which links back to the approximation. 

Give the children other examples for practise. 
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